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/
1 PHT
2 CT
3 RT
4 PHT
5 GND
6 LO
7 HO
8 VCC
V CCmax 30 \Y
V opmax 24 \%
| peak 300 +/-mA
8 Pd 800 mw
1 2 3 4 Vin -0.4~6 \
Iclamp 30 mA
Tj -25~+125 °C
Tstg -65~150 °C
Ta=25°C,Vcc=14V fosc=45kHz,
Ist Vece=9V - 100 200 UA
Iq 3 6 10 mA
lcc Fosc=45kHz,Co= 4 9 15 mA
1nF
Vce Vce- Vce 9 10 11 \Y
on
UVvLO Hys 15 2 25 \
[pht PIN1=0 0.75 0.9 1.05 UA
\
Vpht PIN1 1.2 15 18 \Y
Increasi
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\
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RT

Dvrtl
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10=100u
A~500u
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mV
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25°C~1
25°C

0.5

%
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PIN1=0
V,Rphf=
33Kohm
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66
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80

kHz

fosc

PIN1=5
V,Rphf=
33Kohm
,CT=470
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42

45
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V,Rphf=

33Kohm
,CT=470
pF,RT=
22Kohm
CT V shut PIN2= 0.3 0.6 0.9 \Y
5V
ov
Vprot 4 0 7 10 1 3 V
2 0oV
ov
Itrig PIN4=1. - -1000 - UA
5V
lhold PIN4=0. - -300 - UA
5V
Tprot - 300 - ns
tr Co=1nF - 50 - ns
tf Co=1nF - 50 - ns
Vohl lo=- 11.5 125 - \Y
10mA
Voh2 lo=- 10.5 11.5 - \Y
100mA
Voll lo=- - 0.05 0.4 \Y
10mA
Vol2 lo=- - 0.4 1.2 \%
100mA
Vomax | Vcc=20 12 15 18 \Y
V,
UvLO Vouwv | Vcc=5hV - 0.6 1 V
,10=100
UA
1 Vpht
Vpht 1
Wpht = . 0.05




Rpht 4

2 Tph
Tph
Cpht
Tph= —— = Wpht
0.9x10™
Cpht 1
3 Fsw
Fsw
f_ = —1
T 22RtCt
Rt Ct 2 3
4 Fprh
Fprh
Rt+Rphf
fprH =

25R1 Ct Ephf
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